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Back to no analyzing algorithmic efficiency

upper t lame band

ten
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Worst case unlucky

or adversary
but we can make1g g

in some cases

Develop an expected case if worst case

is less likely
scenario input array is arranged for worst case

adversary or bad luck

ourgoal introduce randomization

T



1 Choose next element at randanFfg bone we stay

n permutations
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3 Make decisions based on Randan Q1

4 Reverse the array
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Byintro ing randomization
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Randan variable can have expected value

E X expected value of X
average valve of X if we run the

experiment over and over and over
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experiment flip a coin 3 times

Rand variable X tails in experiment
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Hiring same of faculty
We don't know in advancehowmanywe'll hire

HIRE n
n candidates

best to a interview is cheap

for ist to n hiring is expensive
Dinterview candidate i

if candidate i best
Best candidate i
hire candidate i
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all positions of pirot are equally likely
l n possiblelocations the pivot couldendup
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